Content

Advantages of
Ventilated Facade
Systems.....cccceenene 2

Facade Scheme -
Details ...cccocvvrrennene. 4

Ventilated Facade
System BRAVO......6

Ventilated Facade
System VARIO ....... 8

Ventilated Facade
System FORTE.... 72

System profiles and
accessories......... 78



Advantages of
Ventilated Facade
Systems



Ventilated Facade systems are combination of cladding material, profiles and accessories.
The basic elements forming the facade are: thermal-insulation pads, fixing brackets, main
(supporting) profile, specific accessories for each kind of cladding material, fastening ele-
ments, thermal-insulation material and cladding material. Each element is designed ac-
cording to the European enactments and is an integral part of the whole system.

The main advantages of ventilated facades in comparison with cladding mounted directly
on building walls are:

High energy efficiency

Natural ventilation

High thermal insulation during the winter

Overheat protection in the premises during summer
Lack of condensation in rooms

High level of noise insulation

Vapor permeability — the building can “breathe”

The main construction is protected against atmospheric influences
Increased fire resistance

Easy maintenance

Fast mounting

Secure fastening of the cladding material

Ventilated facades provide very good comfort of the inner environment. They function

as an outer finishing of the building and protect the layers below from atmospheric in-
fluences. The system’s philosophy allows free movement of the facade elements, due to
temperature expansions and law of constructional physics. The variety of facade finishings
influence the quality of city infrastructure and the quality of our lives respectively.



Ns
4.

g4




Facade
Scheme
— Details

detail 1
horizontal cross-section 1-1

detail 2
vertical cross-section 2-2

detail 3
side finishing to windows 3-3

detail 4
finishing to top side of windows 4-4

detail 5
finishing to bottom side of windows 5-5

detail 6
finishing to baseboard 6-6

detail 7
finishing to top of facades 7-7

detail 8
finishing to plaster 8-8

detail 9
external angle

detail 10
internal angle

detail 11
finishing to curtain wall



Ventilated



Facade System









etalbond — detail 1

9
\%
RRK 2 == I‘ |
" L[%T N
5
£
£
8
B
/ Sl
] |
ﬁ i %%U E%gk
4 U 7 g 6
Czzzzzzdd E
8 BREE 3
v é
2

. etalbond

. hanger

. main
profile

. fixing

bracket

. thermo-

insulation
pad

. Trivet

4.8x12

. nut Mé

. Screw

Méx16

. anchor/

plug

10. thermal

insulation




etalbond - detail 2

I
H . etalbond
L
il

. hanger

| I

@q_& \| . main
B § profile

. fixing
bracket

NO @aw)0
X
fixed support

. thermo-

i
[
t
[
H
I
- H 9 .
4 i \ insulation
i
||
[
||
[
|1

\LQ pad

. Trivet
:::’:A::ii:: 4.8x12
; 0
H . nut M6
£ . screw
% @q&\m\\_\ M6x16

. anchor/
plug

e 10. thermal
insulation

11. supporting
profile




> 100 mm

etalbond - detail 3

V.ND.N.N

—

)
Av

2

D DU . W.W.W.W.N

TR — Rt

. etalbond
. hanger

. main
profile

. fixing
bracket

. thermo-
insulation
pad

|
|
|
|
\ . rivet
4.8%x12
|
2%
i ‘ . nut M6
|
|
|
|
|
|
|

. screw
M6x16

. anchor/
plug

10. F profile

11.thermal
insulation

12. waterproofing




etalbond - detail 4

. etalbond

. hanger

. main
profile

. fixing
bracket

\! -

flexible support

. thermo-
insulation
pad

\
\
|
&
o}
> 100 mm

. rivet
4.8x12

© \ 11
8 . perforated
7

| | X ] o metal

‘1 1 \ 8 sheet
\ . L profile
7

. anchor/
dubel

b

10.thermal
insulation

11. waterproofing




B

|
i

etalbond - detail 5

-_|
<

> 100 mm

O
|
L=
S -
fixed support _
=
L
1

T,
—
NN
-
|

. etalbond

. hanger

. main

profile

. fixing

bracket

. thermo-

insulation
pad

. rivet

4.8x12

. perforated

metal
sheet

. aluminum

sheet

. anchor/

dubel

.thermal

insulation

. self drilling

screw
4.2x16

12. waterproofing




etalbond - detail 6

I
1
o

\\

[
\
\
\
[
K@
flexible support
\ \
©

=
B S

J
+0.00

N N N N N A N N A A A AN A AR
SRR
DN TN NSNS NSNS SN SN SN SN SN SN

SN

. etalbond

. hanger

. main
profile

. fixing
bracket

. thermo-
insulation
pad

. Trivet
4.8x12

. perforated
metal
sheet

. L profile

. anchor/
dubel

10. thermal
insulation




etalbond - detail 7

. etalbond

. hanger

11
| . main

profile

. fixing
bracket

. thermo-
insulation
pad

. rivet
4.8%x12

>:100. mm

|

|

]

|

|

|

|

|

‘ . perforated
‘ metal
|

|

|

|

|

|

|

sheet

. aluminum
sheet

fixed support
: I
=
L
1

. anchor/
dubel

.thermal
insulation

———t— Y a_ | 11. waterproofing




etalbond - detail 8

— =
— i
)
[e)}

. etalbond

. hanger

. main
profile

. fixing

bracket

. thermo-

insulation
pad

. Trivet

4.8x10

. nut M6

. Screw

Méx16

. anchor/

10.

"l

dubel

L profile

thermal
insulation




etalbond - detail 9

. etalbond

. hanger

. main
profile

,g,,,,,,/,,/ ,,,,,
Tl
Serenedl
N| |2

) \\\\Dw

. fixing
bracket

yprrrrrrrrs

. thermo-
insulation
pad

. rivet
4.8%x12

. nut M6

. screw
M6x16

w -bE
e

. anchor/
dubel

\ 10. thermal

=K

insulation




e
T S 2 |

o — — el

!

etalbond - detail 10

. etalbond

. hanger

. main

profile

. fixing

bracket

. thermo-

insulation
pad

. rivet

4.8x12

. nut M6

. Screw

M6x16

. anchor/

dubel

10. thermal

insulation










etalbond — detail 1

e

. etalbond

. hanger

. main

profile

. fixing

bracket

. thermo-

insulation
pad

. self drilling

screw
4.8x32

. rivet

4.8x12

. anchor/

dubel

. thermal

insulation




etalbond - detail 2

I

. etalbond
— o —
@ ! . hanger
\
\
0 B( . main
g s profile
AN
M -
£ . fixing
U §} bracket
g
& . thermo-
j_/ insulation
pad
. self drilling
screw
4.8x32
L la 7

. rivet

4.8x12

. supporting
profile

ge|
F

. anchor/
dubel

flexible support

nd

Ai

L A=

tgzj

’744

.

A/ N 10. thermal

\ insulation

\.










etalbond — detail 1

. etalbond

. main

profile

. fixing

bracket

. thermo-

insulation
pad

. anchor/

plug

. Trivet

4.8x12

. thermal

insulation

. hanger -
steel tube
210x1.5

. security

washer




etalbond - detail 2

flexible support

. etalbond

. main

profile

. fixing

bracket

. thermo-

insulation
pad

. anchor/

plug

. Trivet

4.8x12

. thermal

insulation

. hanger-
steel tube
210x1.5







Facade System









ceramic — detail 1

. ceramic
Creaton

. base clinch
rail profile

. main
profile

. fixing
bracket

. thermo-
insulation

. anchor/
plug

. rivet
4.8x12

\
77w

C I

~N

. thermal
insulation

3

C—C
[ —— U

|
|
|
|
|
|
|
|
‘ pad
|
|
|
|
|
|
\
\
|




[ 2/

ceramic — detail 2

A Rts]

fixed support

> TR NSV TR/

N A

J

flexible support

. ceramic

Creaton

. base clinch

rail profile

. main
profile

. fixing

bracket

. thermo-

insulation
pad

. anchor/

plug

. rivet

4.8x12

. thermal

insulation




ceramic — detail 3

. ceramic
Creaton

. base clinch
rail profile

. main
profile

. fixing
bracket

. thermo-
insulation
pad

. anchor/
plug

. rivet
4.8x12

. thermal
insulation

9. F profile

10. etalbond




ceramic — detail 4

. ceramic
| Creaton

. base clinch

1h 1 rail profile

. main
profile

. fixing
bracket

flexible support

. thermo-
insulation
pad

. anchor/
plug

. Trivet
:;l_ 4.8x12
A _ . thermal
S—— insulation
9/ 9. F profile

10. etalbond




72/ 2/ T2 NV
H(
\

ceramic — detail 4

flexible support

|

25\ \5}

S

' 1

. ceramic

Creaton

. base clinch

rail profile

. main

profile

. fixing

bracket

. thermo-

insulation
pad

. anchor/

plug

. rivet

4.8x12

. thermal

insulation

L profile




ceramic — detail 5

. ceramic
Creaton

. base clinch
rail profile

H . main
profile

. fixing
bracket

thermo-

\g insulation

pad

. anchor/
plug

. rivet
4.8x12

. thermal
insulation

. L profile

fixed support
=0
2

.aluminum
3 drip sill

. self drilling
screw
. . < . . - 4.8x32




ceramic — detail 6

. ceramic
! Creaton

| |
| \ . base clinch
| 8 rail profile

«©>»
flexible support

@@m \ . fixing
B bracket

. thermo-
insulation
pad

. anchor/
dubel

. rivet
4.8x12

7
Q :
o
=

. thermal
insulation

. perforated
metal
sheet

NN N S S N N N %

RRRIDIR,

7 {

(N (N (N (N




11

ceramic — detail 7

)

STV TR o TR S

>
N

fixed support

. ceramic

Creaton

. base clinch

rail profile

. main

profile

. fixing

bracket

. thermo-

insulation
pad

. anchor/
plug

. rivet

4.8x12

. thermal

insulation

. perforated

metal
sheet

10.L profile

11. etalbond




ceramic — detail 8

. ceramic
_ Y — — — — — — — —— — Creaton

. external
corner
profile

. end profile

. main
profile

. fixing
bracket

“U;DL | N [ g d . thermo-

insulation
6 pad

N\ / . anchor/
i plug

,
l . rivet
i 4.8x12

. thermal
insulation

J
it} =
T
( J
p ‘-b
.\]:

3
I%

10. L profile

11. aluminum
sheet

<
\-w




ceramic — detail 9

. ceramic

Creaton

. external

corner
profile

. main

profile

. fixing

bracket

. thermo-
insulation
pad

. anchor/

dubel

. rivet

4.8x12

. thermal

insulation




ceramic — detail 10

. ceramic

Creaton

. end profile

. main

profile

. fixing

bracket

. thermo-

insulation
pad

. anchor/

dubel

. rivet

4.8x12

. thermal

insulation




ceramic — detail 11

. ceramic
Creaton

. end profile

. main
profile

. fixing
bracket

. thermo-
insulation
pad

. anchor/
dubel

. rivet
4.8x12

. thermal
insulation

9. etalbond

10. waterproofing

11. curtain
WEL










ceramic — detail 1

. ceramic

Agrob
Buchtal

. main

profile

. fixing

bracket

. thermo-

insulation
pad

. anchor/

dubel

. thermal

insulation

. rivet

4.8x12

. hanger




e
S
©
S
(]
(]

profile
3. fixing

1.

bracket
4. thermo-
insulation

ceramic — detail 2

=T

O[T

=

1oddns paxy

5. anchor/
dubel

6. thermal
insulation







._ﬁl.u_[.l[..-_.li..

" .......V\ ;
.__..__ - __.___.._.

-Hh
y
4
Yoy
T




ceramic — detail 1

. ceramic
Agrob
Buchtal
[y N I

. fixing
bracket

. thermostop

. anchor/
dubel

. thermal
insulation

. Trivet
4.8x12

. hanger

| |
| |
5

‘ _¥ ‘ . main
L S J profile
| |

| |

| |

| |

| |

| |

| |

| |

| |

| |

| |

I |




s

s

Q.5

¢

'SR
—

2.9 9

-

(

@)

O

B

ceramic — detail 2

fixed support

flexible support

AT

. ceramic

Agrob
Buchtal

. main

profile

. fixing

bracket

. thermo-

insulation
pad

. anchor/

dubel

. thermal

insulation

. rivet

4.8x12

. hanger










ceramic — detail 1

. ceramic
Argeton
| |
‘ ‘ . main
‘ : ‘ profile
‘ _é ‘ . fixing
[ I

. thermo-
insulation
pad

. anchor/
dubel

. thermal
insulation

. rivet
4.8x12

O
K
)
NNH\
(G|
<

e~~~ A~~~ T3 = | | T bracket
|
|
|
|
|
|
|
|
|
|

.~ hanger

. drip profile




ceramic — detail 2

| 5 a— —— . ceramic-
| Argeton
l
| .
. main
profile

U

[

. bracket

||
|

. thermostop

I

ATATAAY . anchor/
plug

||

)4
fixed support
i

O G

||

. thermal
P insulation

. Trivet
4.8x12

. hanger

. drip profile
| 6

T
flexible support
fai
I (/E
-
ul










fibro-cement / HPL detail

-~ s

. thin stone,

light
ceramic,
HPL,
eternit

. main

profile

. fixing

bracket

. thermo-

insulation
pad

. anchor/

dubel

. thermal

insulation
with black
cover

. rivet

4.8x12

. hanger




fibro-cement / HPL detalil

NN

AN

a-D =D O/J
N
«“©»
flexible support

%

. thin stone,

light
ceramic,
HPL,
eternit

. main

profile

. fixing

bracket

. thermo-

insulation
pad

. anchor/

dubel

. thermal

insulation
with black
cover

. rivet

4.8x12

. hange










fibro-cement / HPL detalil

. thin stone,

ceramic,
HPL,
eternit

. main

profile

. fixing

bracket

. thermo-
insulation
pad

. anchor/

dubel

. thermal

insulation
with black
cover

. rivet

4.8x12

. silicon

. double

coated
tape




fibro-cement / HPL detalil

| o . thin stone,
ceramic,
HPL,
eternit

. main
profile

@qgg\\\\ . fixing

bracket

fixed support

. thermo-
insulation
pad

o . anchor/
dubel

\ . thermal
6 insulation

with black
cover

AN

. rivet
4.8x12

flexible support
=1
AN [
/
ul

. silicon










fibro-cement / HPL detalil

. HPL,

eternit,
aquapanel

. main
profile

. fixing

bracket

. thermo-

insulation
pad

. anchor/

dubel

. thermal

insulation

. rivet

4.8x12

. Trivet

5x14 with
decorative
colour cap




fibro-cement / HPL detalil

. HPL,
eternit,
aquapanel

!

|

|

l

l . main
: profile
l

. fixing
bracket

L . thermo-
&Qmm SIS
T insulation

pad

. anchor/
| dubel

M . thermal
\ l insulation
2

.y

Il S EHESEHEEEE OO s sE T T T EE Y T AN

. rivet
4.8%x12

[\_\q—— . Trivet

5 5x14 with

0 decorative
\ 4 colour cap
; 3

flexible support

~










etalbond — detail 1

. etalbond

. main
profile

. fixing
bracket

' R
4 . thermo-
insulation
pad
N . anchor/
L dubel
7
't . rivet
/ 4.8x12
3
_/1=,3 . thermal
6 . .
L‘ insulation
/
o e =
[T T L[]




etalbond — detail 2

1

L
4

fixed support

flexible support

. etalbond

. main
profile

. fixing

bracket

. thermo-

insulation
pad

. anchor/

dubel

. rivet

4.8x12

. thermal-

insulation




Ventilated



Facade System









stone — detail 1

&

J

0

M

NS
ﬁﬁ//\

~
7
1

A

[
|

11

12

TR

-
) "-f'f

. main
profile

. fixing
bracket

. thermo-

insulation

pad

. anchor/
dubel

. thermal

insulation

. screw
M10x35

. hutM10

. screw
M6x20

10. nut M6

11.L profile

12. steel pin

13.aluminum

washer

i

L :_| ‘
4
=




12

stone — detail 2

1

43N

jio]anis

. stone

. main

profile

. fixing

bracket

. thermo-

insulation
pad

. anchor/

dubel

. thermal

insulation

. Screw

M10x35

. Screw

M6x20

. Screw

M6x20

.nut M6

.L profile

.steel pin

.aluminum

washer




System profiles



and accessories



70.8

55

37.7

70

100

Profile
Weight
Ix

Wy

ly

Wy

A

Profile
Weight
Ix

Wy

ly

Wy

A

Profile
Weight
Ix

Wy

ly

Wy

A

Main profiles

code 33413
758.5 gr/m
567 cm*
2.67cm’
10.94cm*
3.09 cm®
2.81cm?

code 21895
1209 gr/m
13.25¢cm*
3.04cm’
8.90cm’*
2.52cm’
4.07cm’

code 33411
1160.5gr/m
24.28cm*
4.44cm’
24.75cm*
7.73cm’
4.29cm’




80

80

110

62

60

60

Profile
Weight

Wi

ly

Profile
Weight

Wi

ly

Profile

code 14222
80x62x2
643 gr/m
10.70cm*
2.14cm’
8.54 cm*
2.13cm’
2.38cm’

code 33550
80x60x3
1109.4gr/m
13.62cm*
2.96 cm®
12.8cm*
3.2cm’
4.117cm?

code 33548
110x60x2
906.9gr/m
10.08cm*
1.83cm’
22.16cm*
4.62cm’
3.35cm?




80

L
7
J
o
2
59 L
7
N ]A
o
n
N
59.8 L
/l
I N
N
@
o
~N

Profile
Weight

Wy
IY

Profile
Weight

Wy
IY

Profile

Weight
Ix

Wy

ly

Wy

A

code 33549
80x40x1.6
511.1gr/m
241 cm*
0.74cm’
6.81 cm*
1.7cm?
1.89cm’

code 33570
59x59x1.9
600.5gr/m
7.78 cm*
1.78 cm’®
3.25 cm*
1.1cm?
2.22cm’

code TP 060001
59.8x79.8x3.8
1403.5 gr/m
34.31cm*

6.16 cm’

6.80 cm*
2.27cm?
5.19cm?




L 60
/l
NI |
3
N L]
FA4
2
N 7é4
g
-~
L 60
/l
b
N -
3
L 60 L
1 7

Profile
Weight

Wy
IY

Profile

Weight
Ix

Wiy

ly
Wy
A

Profile

Weight
Ix

Wi

ly

code 17160
60x60x4
1252.8 gr/m
16.31cm*
3.75 cm?
7.22cm?*
241 cm’
4.64cm’

code 10645
60x40x2
529gr/m
2.78cm*
0.89cm’
7.51cm?*
1.82cm’
1.96cm?

code 4163
60x60x3
947 gr/m
12.53cm’*
2.86cm’
12.53cm’
2.86cm’
3.5cm?




Main profile
for ceramic
Agrob Buchtal

Profile code 21916
99x83.2x2.2
Weight 1096.5 gr/m
L 99 L Ix 200.17cm’*
7 7 Wy 6.38cm’
-+ ly 140.2cm*
[ Wy 4.04cm*
0 L , A 4.06cm’
2

Profile for plate 200mm
code 07 buchtalt200
Profile for plate 250mm
code 07 buchtalt250
Profile for plate 300mm
code 07 buchtalt300
*the profile is painted in
standard RAL 9005 - black

L 110 L
g 7

N\

Profile for plate 200mm
code 07 buchtalt200
Profile for plate 250mm
code 07 buchtalt250
N U Profile for plate 300mm
code 07 buchtalt300
*the profile is painted in
standard RAL 9005 - black

60

—

\\\;\

200/250/300

51

l
N
AT
20_4
|72 I
/l

0

/l
/l
=

Profile for plate 200mm
code 07 buchtalt200 N
Profile for plate 250mm
code 07 buchtalt250
Profile for plate 300mm
code 07 buchtalt300
*the profile is painted in
standard RAL 9005 - black

61

N\

hanger
code 07 buchtalQ.01

/

N

\\;\

*the profile is painted in standard RAL 9005 - black




Main profile
for ceramic
Argeton

110

45

LA AT
#
Profile code 07argeton
110x45x2/3
5 Weight 1290.6 gr/m
+¥ Ix 6.117cm*
0 Wy 1.71cm’
" ly 22.19cm?*
- Wy 4.03cm’
0 A 4,06cm?
o 0
o 0
0
0
o 0
o 0
0 0 ﬂ
. e
’ '(a
0
clamp
) code 07 clampO01




40mm

H=

40mm

H=

45mm

H=

70mm

H=

Accesories

hanger

code 07110800
screw
M6x16
din933
nut
M6

hanger din934

code 07bravo.00

self drilling screw
4.8x32 code
07M4832QS

@
A &© drainage profile code
© 07110805

self drilling screw

% 4.2x16 code
07M4216QS

PVC thermostop
code 07pvcbreak00




56mm

H

Fixing bracket

code 07bravo01 L=65mm

code 07110801 L=80mm

code 07110806 L=100mm

code 07110803 L=120mm

code 07110804 L=160mm
anchor M8x94 - A4 - for concrete code 07M894A4F
Fischer
anchor M8x97- galvanized steel-for concrete  code 07M897F
Fischer
anchor M8x97- galvanized steel-for concrete  code 07M897S
Sormat

dubel 210x100- A4, Sormat

code 0710100A4S
dubel @10x100- galvanized steel, Sormat
code 0710100S
dubel @10x100- A4, Fischer
code 0710100A4SXR
rivet @4.8x12 AL-St code 07P4812ALSS

rivet 94.8x12 AL-A2 code 07P4812ALA2S
rivet @4.8x12 A2-A2 code 07P4812A2A2S
Sormat

self drilling screw M4.2x16-zinced steel code 07M4216QS




80mm

H

Fixing bracket

N code 07vario07 L=40mm
Q/ code 07vario08 L=75mm
2
g
\J
2
-
@ \J
el Q
// I
| 105021 U
29
anchor M8x94 - A4 - for concrete code 07M894A4F
Fischer
anchor M8x97- galvanized steel-for concrete code 07M897F
Fischer
anchor M10x102- A4 - for concrete code 07M10102A4S
Sormat
anchor M10x102- galvanized steel- for concrete code 07M10102A4S
Sormat

dubel 210x100- A4

code 0710100A4S
Sormat
dubel @10x100- zinced steel

code 0710100S
Sormat
dubel 210x100- A4

code 0710100A4SXR
Fischer

rivet @5x12 AL-St code 07P512 ALSS
rivet ©4.8x12 AL-St code 07P4812ALSS
rivet 94.8x12 AL-A2 code 07P4812ALA2S
rivet @4.8x12 A2-A2 code 07P4812A2A2S
Sormat

self drilling screw M4.2x16-zinced steel code 07M4216QS




90mm

H

Fixing bracket

< code 07varioQ10 L=100mm
%//@ code 07varioQ17 L=125mm
code 07varioQ15 L=150mm

1 5.4x19

<
J)
e

o7 ¥ VA
==/

-
L lo.5x1

/ O &=

Fischer

anchor M8x97- galvanized steel-for concrete  code 07M897F
Fischer

anchor M10x102- A4 - for concrete code
07M10102A4S

Sormat

anchor M10x102- galvanized steel- for concrete code
07M10102A4S

Sormat

dubel @10x100- A4

code 0710100A4S
Sormat
dubel @10x100- zinced steel

code 0710100S
Sormat
dubel @10x100- A4 code 0710100A4SXR
Fischer
rivet @5x12 AL-St code 07P512 ALSS
rivet @4.8x12 AL-St code 07P4812ALSS
rivet 94.8x12 AL-A2 code 07P4812ALA2S
rivet 94.8x12 A2-A2 code 07P4812A2A2S
Sormat

self drilling screw M4.2x16-zinced steel
code 07M4216QS




120

bracket 71121L
for stone hanging

washer code 07120800
for fixing bracket

anchor M12x123 code 07M12123S
galvanized steel for concrete

accessories for stone hanging
L profile code 07forte01

Steel pin code 07pin500

screw M6x20 din933
screwM10x35 din933
nutMé din934

nutM10 din934




System profiles

16,4
H profile code 11975
weight 273g/m
= L 1
L 2 L
7 7

profile code 11782

18 weight 212g/m

L %

7 1
profile code 3420
weight 335g/m

gi

L > L

71 1
profile code 3421
weight 335g/m

L > L

1 1

profile code 3422
weight 435g/m

L >2 L
7 7

35

25

25

profile code 31064
weight 392g/m

profile code 3426
weight 292g/m

40

profile code 5256
weight 248g/m
20

Py

777777720

(prrssrssbssts]




	Σύστημα βιβλιοδεσίας1
	Ventilated Facade Systems
	Ventilated Facade Systems

	Ventilated Facade Systems 84
	Ventilated Facade Systems 85



